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Explanation Sudoku with six numbers (Honeycomb). 

 

Solution: 

 

 
 

This Sudoku variant uses the numbers 1, 2, 3, 4, 5 and 6. 

 

In the hexagon the numbers 1 up to and including 6 are once prevented.  
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In the horizontal rows marked with the different background colors the numbers 1 up to and 

including 6 are once prevented 

 

 

The blue background color: 

 
 

The green background color: 

 
 

The yellow background color: 

 
 

The red background color: 

 
 

In the vertical columns market with right angels with the border colors blue and red, this rule 

is used as well. 
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The puzzle looks like: 

 


